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Question 3

—-_——

(a).  Instrong but brief terms, distinguish between the three basic (c).  What are the two principal properties of a superconductor? Name
classes of engineering materials. four applications of superconductivity.
(b). What are the two broad classifications of Wood? Discus the Question 7
engineering importance of wood reinforcement. (a). What are LASERS and MASERS? (ii) State the fundamental
principles underlying each of their operations and (iii) mention two
(c).  Inatabular format, write briefly on the differences between a metal of their major applications.
(e.g. iron) and glass (e.g. Silicate glass).
(b). Write briefly, with notable examples. on n-type and p-type semi-
Question 4 conductors.
(a) (i) What is a composite material?
(ii)  Define cermets and give three examples of cermets. (c). What is corrosion? Explain briefly why a food engineer would prefer
an aluminum foil to foils of copper. mild steel or magnesium for
(b)  Compare and contrast between Thermoplastic and Thermosetting packing certain food items.
Polymers.
(c).  Comment on the Factors that affect the strength of polymers.
Question 5
(a).  What are refractories? Name six refractory raw materials.
(b).  Mention Four (i) Ceramic Fabrication Methods; (ii) Polymeric
Fabrication Methods.
(c). (i) What are diamagnetic, paramagnetic and ferromagnetic
materials?
(ii) Distinguish between a soft and a hard magnet.
Question 6 :
(a).  Mention the major factors of consideration in the selection of
engineering materials for any engineering application.
(b).  Asan Electrical Engineer, why would you select Aluminum for

high tension cables and copper for domestic wiring cables instead
of the best electrical conductor known to man — silver?
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